
1

INSTALLATION MANUAL
End Panel Mounted Accessory

ATTENTION: PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS AND WARNINGS 
BEFORE ASSEMBLING, INSTALLING OR USING THIS PRODUCT.

VAN STORAGE SOLUTIONS
FOR THE WAY YOU WORKTM

• Plan the placement of your accessories before installing them, some accessories may be easier to
install before mounting shelving into the van.

• Install panel mounted accessories before shelf mounted accessories.
• Weather Guard® rapid Mount™ end Panels have pre-punched mounting holes simplifying installation.

TOOLS REQUIREDBOLT KIT
DESCRIPTION QTY. 

Mounting Bolt, 1/4-20 x 1/2" 
round head, Phillips 4

 1/4-20 Nut 4

Washer, Flat 1/4" 4

• 7/16 Open or Box end wrench
• Phillips Screwdriver

INSTALLATION TIME

approximate installation time: 5 minutes 
per unit depending on van equipment 
installation experience.

  PLAN YOUR VAN (TIPS FOR FASTER INSTALLATION)

STEP 1. Position accessory over mounting 
holes, taking into account clearances to access 
and use the accessory.
STEP 2. use four 1/4-20 x 1/2" bolts and 1/4-
20 nuts to secure accessory to end panel with 
the nut on the accessory side.
STEP 3. tighten to 18 in-lbs.

INSTALLATION STEPS

Be safe - always wear protective eye-
wear to keep debris out of your eyes 
when installing Weather Guard® 
Van Products.

CAUTION Representative of End Panel 
Mounted Accessories



Looking for dependable commercial van equipment? Rely on Weather Guard for quality and long-lasting products.

DANGER

Danger	of	explosion.	Do	not	use	this	product	for	storing	or	transporting	flammables,	explosives,	hazardous	materials,	or	hazardous	waste,	such	as	
containers of gasoline, solvents, gun powder, dynamite, propane tanks, acetylene tanks and cutting torches. Failure to heed this warning will result in 
death or serious injury.

– NOTICE –

Any	modification	or	unintended	use	of	this	product	shall	immediately	void	all	manufacturers	warranties.	Manufacturer	disclaims	all	liability	for									
injuries	to	persons	or	property	resulting	from	any	modification	to,	or	unintended	use	of	this	product.

this product is only intended and safe for use in storing and transporting small tools, equipment and other similar materials. these instructions 
are	to	be	followed	using	the	parts	and	fasteners	supplied	for	proper	installation.	Any	modifications	or	improper	installation	of	this	product	will	create	a	
hazardous	condition	that	could	result	in	death,	serious	personal	injury	and/or	property	damage.

do not install this product where it could interfere with deployment of air bags. Failure to comply could result in death or serious body injury.

WARNING

https://www.carid.com/commercial-van-equipment.html
https://www.carid.com/weather-guard/



